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@ Simplify E
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11 + 8i
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b
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') 13 + 4i p
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fA= E;l?, —47] a"delg 796]’ | ‘B=[8 _6] A= [13 —7] o
find 2B — 3A. 2B — 3A 1
O [ —39
o [233 —24 R
O[ 11 —16
0 [373 _03]
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D@ Find the inverse of the matrix ddghmall (ugSas tagl

a=[2, 3 A= 3
ont=[p3 2] :
Oat=[gy o3l *’
oat=[, 1 ‘°
o A_1=[1.25 —(;.5] d
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@ Which quadratic function has a

maximum at x = 57?
O f(x)=x%2—10x+30
O f(x) =x*+10x+ 30
O f(x) =—-2x*+10x+ 30

O f(x) =—x2+10x+ 30
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O 3.24

O 18

O 0.9

O 0.81
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Find the value of ¢ that makes
x% — 1.8x + ¢ a perfect square

trinomial.
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oSl &y pall Jul=

15]) A5 Jaas ) € e angf
SlalS lagpe x%2 — 1.8x + ¢
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If f(x) =x+4 and
@ g(x) = x% + 3x — 10, find [g o f](x).

Olgefllx) =x*-11x—18

O g flx) =22 +3x—6

Olgeflx)=x*+11x+18

Olgeflx)=x*+3x+18

Jlgaw yolsiw] Q

Jlgl Sy

ilSy f(x) = x + 4 cls 1y
g(x) =x2+3x—-10
g o f1(x) 2
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@ Solve 2x + 3 > x2. 2x+3=>2x2 A

x|x<-1gx>3
ol J

{x|]x < —1orx > 3}

Ofx]| -3<x<1} b

x[x<-34dx>1
ol }

{x]lx<—-3orx>1}

Ofx| -1<x<3} d
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@ If f(x) = —x® + x + 1, find the value  dwd g« f(x) = -2+ x+1 g1y
of 5f(2n). .5f(2n)

O —-40n® +10n+5 a
O -10n®+10n+1 b
O -30n®+5n+5 <
O —-40n® +5n+5 d
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@ Find the inverse of the function AN ugSaa 2a gl

f(x) = (x + 1)% + 3, therefor x > —1.

x> -1 f(x)=(x+1)>+3

Oflx)=vx+1+3

O fl(x)=vVx -1

O flx)=vx+3-—-1

O fllx)=Vx—-1
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graphed?

:)@ Which system of inequalities is ke Jlaall cililaal) alai L

2x+y =5
o 3x+2y<9

2x+y>-5
o 3x—2y=9

—2x+y>5
O 3x—2y<9

2x+y<5
O 3x+2y<9
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@ Find the value of a, and b if the Sl hghad) il )Y b s a dad sagl

following two matrices are equal. <Cligladia
[a+3 —1]=[5—a —1] [a+3 —1]_[5—(1 —1]
4 5 2b—6 5 4 517 12b-6 5
O a= S,b =1 a
Qa=1b=10 b
O a= 1,b =5 C
OQa=2b=10 d
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Write a quadratic equation with Mhl 5— 5 Wjis A dlilas cas)

:‘.\/ AR A A -
D roots -5 and % in standard form. Al

O xz + 9x — 5=0 a

O 2x*+4x-5=0 b

O 2x2-9x-5=0 <

O 2x2+9x-5=0 d
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Oy=-2x+52%+7
1

@) y=-5&+572+7
1

Oy=—§(x—5)2+7

O y=2(x+5)?%-7

Write an equation for the parabola
whose vertex is at (—5,7) and

passes through the point (—3,—1).
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@ If mn =16 and m? + n2 = 68, then bm? + n? = 68 ymn = 16 o< 13

(m + n)? equals: : ggs (m + 1)

O 100 a

O 68 b

O 84 <
Basaad oS Y

O d

cannot be determined
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Nabila downloaded some television WA a1l Elbisal) Gams a3 Al Cald
@) shows. A sitcom uses (.3 gigabyte 3804 e cubilana 0.3 A0 Jedisa ellgion
of memory; a drama, 0.6 gigabyte; Slss el ccublans 0.6 Ll Juidusay
and a talk show, 0.6 gigabyte. She 3.6 Jlaabi gmalpy 7 Jijin cuald Lcubilais 0.6
downloaded 7 programs totaling ) Jodisall cilils sae caly L cubilas
3.6 gigabytes. There were twice as ¥ alas Ui i) L gl Juabesal) Cldls Cania
many episodes of the drama as the cBldisall (e g5 JS cilala st
sitcom. Write a system of equations
for the number of episodes of each
type of show.
x+ty+z=7
O 0.3x+0.6y+0.6z=3.6 a
z=2y
x+y+z=7
O 0.3x+0.6y+0.6z=3.6 b
x =2y
x+y+z=7
O 0.3x+0.6y+0.6z=3.6 <
y =2x

x+y+z=3.6
O 0.3x+0.6y+0.6z=7 d
y =2x
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Which of the following represents 1 dasnal) LuCl) dacdl Jias b Laa

the correct synthetic division for ‘Bx*-2x+5)+(x—-2)
(3x3—2x+5)+ (x—2)?

o -6 12 =20

-6 10 ' ~15

12 20

-6 16
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Use the graph of the polynomial alady agaal) B ANl bl Jial) aads)
@) function to find the zeros of the AR JLLai
function.
P(x)
i
[1°[\
ll : \
-4 Lp |O 4 X
O _2J2 @
O -0.5 b
O -2.52.5 C
O _31' _2) 1: 2 d
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Dj Solve the system of equations.

2x+3y=5
6x +9y =15

da 2y

no solution

R

infinite number of solutions

O (1,1)

O (-2,3)
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2x+3y=5
6x +9y =15
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O [15 5l
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11

O [33 39]
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Find the product [§ _81] ) [g]
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@ Solve the equation x2 — 4x = —13. X2 —4x = —13 Lol Ja

O 1,13 a
O 2 b
O 0,4 c
O 2+ 3i g




